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BBA/D-16 14606

BUSINESS ORGANISATION
Paper : BBA-101

Time : Three Hours] [Maximum Marks : 80

Note : Attempt any five questions. Question No. 1 is .ooBcEmoQ.
All questions carry equal marks.

e : 5= ofe 9 @ S| A T gen | stEe 3
gty # o e

Compulsory Question
(atfrEm ww)
1. Attempt the following short answer type questions :
frfafes oy sofa vl & sw Afm -
(a) Discuss the major characteristics of multinational
corporations.

T qerl &t gen fauiwaet &) == S

(b) What is ASSOCHAM ? Briefly throw light on its role.
THRH (Assocham) T & 7 THaH! g w i
EEANICSIY

(c) Why Values/Value System is important for any
business ?

fFd At =ewm @ fau qeames yomen w
ool BNt & 2
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(d) What is a Non-Profit organisation ? Discuss its
features.

F-emae ST w0 e § 2 9w favreaed @i
== ST

(e) Difference between Corporate Governance and
Business Ethics.

FRAE TEAG T SFaaE Arwaet & #f" iR AR

(f)  Figure out the various types of Joint Stock Companies.

fafv= yFR #1 9gw wiF FIEE F IR

Discuss major reasons why business is required to be more
ethical in the modern time. Throw light on ethical practices
which every business needs to perform to have a positive
image in the eyes of its stakeholders.

MY T % TEEE H AR fuw FE €W F
AFTIHA $ T FROT W T9 HIGY AW WERR F
TR ¥ THEReE Sfg 1 @ # A y9E =ead g0
F W T e sl w g st

Elaborate in detail the various procedures and rules which
needs to be complied for formation of a company.

W Fo » o & fau defaa # 9m awn fafi=
yfspensti qen el =) sTavgsa 1 foawga avl w9

What is a Partnership Deed ? Throw light on partner's rights,
duties and liabilities applicable in case of Partnership.

TEE TS 1} ? URRK ® WEe H @R WRER B
A, FdeAl qen Igaisti W YHRT SIfeu

14606/4,600/KD/1274 2

S.

Critically evaluate the role of Multinational Corporations in
growth of Indian Economy. Use relevant examples to justify
your viewpoint.

I srefeaeen & fowm o Sgusa S #t b #
IMArSIHF Jedisha Hifowl 3T 3w & T &
fore wEfs SeTEen @1 S Hifwu

What is FICCI ? Is it different from CII ? Explain the major
functions and the roles played by FICCI in representing the
corporate sector.

fiFgR! (FICCI) &1 & ? 31 g8 Hem.en. (CIl) ¥ fi=
? 7 wRORe &% % whatfue § fret (FICCD) grn fasd
T yq@ e o i H auss

Write notes on the following :

frfafes ® e fafa .

(a) Licensing Partnership.
AR WRRH

(b) Dissolution of Partnership.

e w1 faue)

Compare and contrast the Sole proprietorship, Cooperative,
Non-Profit form of Organisations.

e W@iHE, T, -avet) TR & 96 & a9
o qe 9% e

14606/4,600/KD/1274 3
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BBA/D-16 14607

BUSINESS ACCOUNTING
Paper : BBA-102

Time : Three Hours] [Maximum Marks : 80

Note : There are eight questions in all. Attempt five questions in
all. Question No. 1 is compulsory and comprises of six

short answer type questions. All questions carry equal
marks.

T - EARRE R Sl i (I IR SR e —
&ﬂéqﬁﬁdﬂHﬁﬂlwmﬁmﬁ@"ﬁ%
W1 E W T ® o wme ¥

Compulsory Question
(frard o)

1.  Explain the following :

(a) Discuss the basic objectives of financial accounting ?

3
(b) Define business entity concept. 3
(c) GAAP vs FSAB. 3
(d) What is convention of prudence ? 3
(¢) Define errors of omission. 2
(f) Define tangible and intangible assets. 2

14607/4,600/KD/1281/Trans. [P.T.O.



frafafas =1 wrgET:

(%) B @t B g SR ®oa= s
(@) Eafas TR uRT & ufdfia s

(1) MCTH. W TETELE. (GAAP vs FSAB)!
(%) oo #1 w22

(F) @ # owfedl w0 &2

(=) T qen s vl & wftwfya wifsw

What is Double Entry System ? Give the rules of debit and
credit of various types of accounts with suitable examples.

e fafe gl = §2 = TR ® WG § e
I ®wfez # F|l F Sgw IR gfeq TaEUl

Transactions of M/s Vipin Traders are given below :

Show the effects on assets, liabilities and capital with the help
of accounting equation.

Rs.
(a) Business started with cash 1,25,000
(b) Purchased goods for cash 50,000
(¢) Purchased fumiture from R.K. Furniture 10,000
(d) Sold goods to Parul Traders (costing Rs. 7,000) 9,000
(e) Paid cartage 100
(f) Cash sales (costing Rs. 10,000) 12,000
(g) Rent received 4,000
(h) Cash withdrew for personal use 3,000

14607/4,600/KD/1281 2

14607/4,600/KD/1281 3

ﬁ@ﬂﬂaﬁd%%-ﬁﬁ@mﬁimﬁﬂw"

nﬂm&‘ﬁaﬁmﬁﬂﬁﬁnﬁlﬂa@ﬂﬂﬁsﬂ
HETT 50 gwisy|

4
(%) TH R Sy =rEEy 1,25,000
(@) 7 4 @i % aegd 50,000
(M) MF. TR T @l T TR 10,000

100
(¥) 7% faFt (orm 2 10,000) 12,000
(®) 9rq f&u 4,000
(W) =afsTm 3gam ?Y MeRT Fwdt 3,000

Define and discuss the following :
(a) Users of accounting information.
(b) Tally as an accounting software.

(c) Balance sheet as per Schedule III of Companies Act.
(d) Types of errors,

%ﬂ%ﬁ@m%ﬂﬂmﬁmﬂﬂgn
(F) S@FT o % 39

(@) T wF FEw weEm § d
() e F yowy

[P.T.O.



5. What are features of Trial Balance ? Prepare a trial balance

with imaginary figures.

-1 F T R 7 st sieel W

IY-ThHT FAR HR)

6. From the following balances extracted from the book of
M/s Manju Chawla on March 31, 2016. You are required to
prepare the trading and profit and loss account and a balance

sheet as on this date.

Account Title Amount Amount
‘ 4 4
Opening stock 10,000
Purchases and Sales 40,000 80,000
Returns 200 600
Wages 6,000
Dock and clearing charges 4,000
Lighting 500
Misc. Income 6,000
Rent 2,000
Capital 40,000
Drawings 2,000
Debtors and Creditors 6,000 7,000
Cash 3,000
Investment 6,000
Patent 4,000
Machinery 43,000
Donations and Charity 600
Sales tax collected 1,000
Furniture 11,300
1,36,600 |1,36,600

Closing stock was Rs. 2,000.

14607/4,600/KD/1281 4

Adjustments :

(a) Interest on drawings @ 7% and interest on capital

@ 5%.

(b) Machinery is depreciated at 5%.
(c) Interest on investment @ 6%.
(d) Unexpired rent Rs. 100.

(e) Charge 5% depreciation on furniture.

o T wEen ® @ g 6 31, 2016 F Frefetem
vy fom ¥ 3 ffy w =R aw Wy 9 ey @

TR T

orar i Tfe fer
€&:)) (X )

SRF =i 10,000

iR qur fam 40,000 80,000

T 200 600

R 6,000

TRl (Dock) Tem fTeTEl Yo 4,000

TR S 500

fafay Mg 6,000

ferran 2,000

gsit 40,000

3T 2,000

TR qqT FTRR 6,000 7,000

14607/4,600/KD/1281 5 [P.T.O.



ECaA| 3,000 ; 8. (a) Define Journal? What is the need of preparing Journal ?
fEw 6,000 Also write the journal entries for five (assumed) business
S . 4.000 transactions with narrations.
el 43,000 (b) Differentiate between Journal and Ledger.
T SRS 600 (F) SR F1 IR AT A F VIR FE A
THhE -t 1,000 HFTFHA 27 99 =R -3 (Fhd) B fag
AT 11,300 S wfafeai feewon wfem fafew

136,600 | 1.36,600 (@) TEA 791 SRR P A9 3R FawEu

Hfem wIw % 2,000 o

FHTES: A

(F) STEWH R &9 @ 7% a0 T VR @ 5%
(@) 7 #1056 @ 5%

(M fow W =N @ 6%

(&) A fwuar %100

(F) R W T 5E 5%

7. Differentiate the following :
(a) Capital and revenue expenditure.

(b) Errors of omission and errors of commission.

fr=fafas = &9 <R waET :
(F) Tt o Tora =14
(@) @ F fgdl au FHvE w1 SwfEan

14607/4,600/KD/1281 6 14607/4,600/KD/1281 ;
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BBA/D-16 14608

MANAGERIAL ECONOMICS-I
Paper : BBA-103

Time : Three Hours] [Maximum Marks : 80

Note : Attempt five questions in all. Question No. 1 s
compulsory. All questions carry equal marks.

e A U W P IW A v wen 1 st Y
aft I # sfw TEE §)

Compulsory Question ( 31F@ETd wy)

1.  Write notes on the following :
(a) Incremental principle.
(b) Degrees of cross elasticity of demand.
(c) Differentiate between explicit and implicit cost.
(d) Applications of IC.
() Non-price competition.
(f) Law of diminishing returns.
frfafen w feorot =i .
(%) Ifgeier fagm
(@) 7m =t wfieei= w5 foi
va@ﬁmﬁﬁﬂﬂmﬁ%%gﬂg_
(%) STEF 96 F |
() M-ge7 wfFeqy)
(7)) 3wAR fowet w1 frm
14608/4,600/KD/693/Trans. [P.T.O.



Explain the role of marginal and incremental analysis in
managerial decision-making.

yeusE fofm & dmia g gigeia favemo =Y ftem
Eafistiiy

What is law of demand? Why demand curve slopes
downwards? What are the exceptions of law of demand?

o w1 g | 2 uin A% NN # WE g gu =
TR UM B g % ¥ AR B2

What are the properties of indifference curve? Explain
consumer's equilibrium with the help of IC.

I T H F O B2 S G HI HeEdl gR
IYTFN FRGEAA HI THARTY

Differentiate between returns to factor and returns to scale.
Explain the increasing, decreasing and constant RTF and
RTS with the help of IC.

FE & W Ffara 9w Ww ® W Aea % 99
SR wAET| SEEAT gl H e 5N 9gd, Wed g
feer JMATH. (RTF) a1 SRATE. (RTS) 1 THEU

What is cost? Discuss the various types of costs. Explain
TC, AC and MC with the help of table and diagram.

e ¥ e At TR # e ®1 ==t st
Tfeer qen foa =1 gema g Al (TC), TH. (AC)
T . (MC) H gHART

What are the causes of monopoly? Explain the price and
output determination in monopoly situation of the market
structure.

14608/4,600/KD/693 2

FVFR ® = FNO 27 §ER &N F THIER
foufs & gou Jon sRA fuRo @ EEmEw

What are the characteristics of perfect competition? Discuss
the price and output determination in perfect competition in
short-run as well as long-run.

ol wfegut =1 T favwerd ¥? B qon @t ety |
gqol wfaeet § g g sweA frufer w o=t s

14608/4,600/KD/693 3
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BBA/D-16 14609

BUSINESS MATHEMATICS -1
Paper : BBA-104

Time : Three Hours] [Maximum Marks : 80

Note : Attempt five questions in all. Question No. 8 is
compulsory.

AT : FwA wiw WA F IR AU oy @ewn g sitEd
d

1. @ If x/1+y+yJl+x=0, x# y, prove that

dy -1

& T :

4 .5 9 .
xlkxlmlxlo.

(b) Solve

I
1+ x)?

() fag i e 2 i

xJI+y +yl+x=0, x#y.

14609/4,600/KD/1008/Trans. [P.T.O.



14609/4,600/KD/1008 2

4 5 9 3 % . .
(@& FNC 7+ -5 =79 (|@) S % F foem A me W ﬂﬂa
it
(@) Provethat AUBNC)=(ANB)UANC). 8
2 2 1
4. (a) Find the inverse of matrix A=[1 3 1/, 8
p q_ _ 1 2 2
(b) Solve hxl~+§l~ ptgq. 8
(F) fag BT HF AUBAC)=(AnB)U(ANC) (b) Solve 2x+y+z=lx-2y~-z=13dy-32=9by
Cramer's rule. 8
(@) T e Py 2 _-p+g.
px—1 gx-1 °* 2 2 1
(F) g A=1 3 1 ﬁ&ﬂwﬂﬂm&:ﬂn_
. 1 2 2
@ If x? =ev=? that 2 = 108X 8
a =e*” ro Il
Ee prove tat “ix Q+_om\3~
A@vw,«+y+mnfxlwwanH.m,wwlmmnoﬁ%ﬁﬂ
_ % frm gm '@ wifu
3\
(b) Find the middle terms in the expansion of WN - xﬂ
X
5. (a) Provethat (pAg)V(~pArg)&q. 8
8
dy log x . /\al 11— x
—_—_— — y X - HL .
(%) fag =ifst & " (U log o) IR Y = e (b) Evaluate Lim I 8
14609/4,600/KD/1008 3 [P.T.O.



(F oz ST & (prgv(~prgeqg. Compulsory Question ( 3@ we)

(@) 5 FIfsu Enw vi+ xwlx Vi-~x ) 8. Attempt all the following :
x>
(@) If y=,/1+x’, prove that NVTMN =7x5 . 2
6. (a) Find the maximum and minimum value of 0 - x20 on .
[0, 1]. 8
(b) Divide 14 into two parts such that their product is
(b) m.oé many numbers greater than a million can be formed maximum. 2
with the digits 2,0, 3,4, 3,2,3 7 8
50 _ .20 L x> +x+1
(F) x°0 - x20 =1 [0, 1] W AfewaH q&n AqH AF I (c) Evaluate Lim-=—rr—". 2
IS

. . (d) Find the coefficient of x* in the expansion of (x + 5).
(@)2, 0,3, 4,3, 2, 3 9eed @ 39 @@ § s

F P ofF T W GES 87

(e) Solve walanmlw. 2
ﬁNM
7. @ If x=ar®, y=2at, find —>. 8
NNR N H
If A b3 aw 5 4 | find A'-B
= . =i 1n e .
(b) Prove that "C, + "C, = *"C,,,. 8 ® 5 =2 7 ] ;
&Nw 5
Amv%. FH HH F@ SN ARy = g2, y=2at.
2 -1
(g If A= 3 4 , find A2 - 5A +6I. 2

(@) fag wifsg & "Cc, +"C,_ =2"C,,.

Cr+l

14609/4,600/KD/1008 4 14609/4,600/KD/1008 5 [P.T.O.



(h) If o and P are roots of the equation ax? + bx + ¢ = 0,

2 -1
FTT A2 _ A= X
m:a50<m_:w9ﬁmw+w. 2 (®) 3 A A6l T n;
mﬂﬂ&ﬁﬂﬂﬂﬂ“ () afg o qen B §Hf ax? + bx +c=0 F A T,
1 1
. 99 —+5 H HAE J@ HIC
() frg #ifm 5 2yD = w o fi o a" B

(@) F@En 14 & 9 § 3@ yER favsm wifsw R
ITH OEESA  Afuwad 8

2

x—1 x+1

() (x+57 & fawm ¥ x4 % 1 FE S

(%) 7@ FIMM 3x-4=3-3.

1 3 4
(F) A’-B F1 97 I FIfTC, 7 >HT - ng
2 1
B=|-5 4
6 -3

14609/4,600/KD/1008 6 14609/4,600/KD/1008 7
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BBA/D-16 14610 8. fodt w fowr w &wm 300 y=i # ey fafaw .
HINDI .
Paper : BBA-105 (i) SR, TR SR AR
(i) “SFEEen gfg #1 = agfs | 3vE|
e : Three Hours] [Maximum Marks : 80 (iii) .n%dw.
: HA U U ® SR AU ofm e et f (iv) HTEEH|
TEE WA F 16 HF T (v) S Hwel

Toen fafEm, 1963 Wy eI

&t = v wEei e ® oy 1952 W yEmw
giferay

et R aRer SR See fafam
fam = sty sik e fafaw
AR A Ffranstt H T= Hif
TeoaT & T fafEg)
fet w9 fafau:

For information only,

As recommended, Do the needful,

Highly objectionable, Paper under consideration,
Orders solicited, Seen and Returned,

with Regards.

)/4,600/KD/1728 [P.T.O. 14610/4,600/KD/1728 2
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14611

BBA/D-16

COMPUTER FUNDAMENTALS
Paper : BBA-106

[Maximum Marks : 80

Note : Attempt five questions in all. Question No. 1 is compulsory.

1.

2.

3.

All questions carry equal marks.

Compulsory Question

Answer the following questions in brief:

(a) List the characteristic features of fourth and fifth
generation computers.

(b) Distinguish between low level and high level languages.
(c) What is an IP address?

(d) What is the purpose of browser in the Internet?

(e) Describe the term 'Wizard' as used in MS-PowerPoint.
(f) Name the different kinds of charts you can draw in

MS-EXCEL.

Sketch and describe the components of a digital computer as
per their functionality. Also describe the important
characteristics of computers.

Enumerate the functions of Operating Systems. Also give some
examples of operating systems that you commonly use along
with their characteristic features.

14611/4,600/KD/1015 [P.T.O.

(a) What characteristics distinguish local area networks from
wide area networks?

(b) What is Internet? List the services provided by the
Internet with a detailed description of E-mail and WWW.,

(a) What are the essential features of Windows Operating
system?
(b) Convert the decimal numbers 342 and 1245 to their

equivalent binary, octal and hexadecimal numbers.

(a) Name and describe any five important tools found on
the Standard Toolbar of MS-Word.

(b) How are tables created and formatted in MS-Word?

Describe the strengths of MS-PowerPoint software. Name any
one application where you will use PowerPoint and describe
the kind of presentation you will make.

How do you create a spreadsheet in Excel? With the help of
an application of your choice, explain what features of Excel
you can use in it.

14611/4,600/KD/1015 2
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OBBA/D-16 14612

BUSINESS ORGANISATION
Paper : BBA-101

Time : Three Hours] [Maximum Marks : 80

Note : Attempt five questions. Question No. 1 is compulsory. All
questions carry equal marks.

AT : FA U WA ® SW U T e 1 sAfEE 2
gl Tl B % wEE R

Compulsory Question ( 31 aTE U9 )

1.  Answer the following :
(a) Write brief note on External Trade ?
(b) Write any three merits of partnership ?
(c) What is Memorandum of Association ?

(d) Explain any three characteristics of company
organisation.

(e) Write two objectives of cooperative Marketing Societies.

(f) What do you mean by Non-profit Organisation ?

= =1 3w dfe .

(%) foeh =R W ofea feooft fafau)

(@) el ® #E dR Ay SaR)

() TF e dmfEm 7 82

() FAT T F fFR fiw ol @ aolv wifsw
(¥) meFrt fauom ofufaal & S sevg fafau

() fan a9 9 gTeE ¥ Ut F SAftyur &2
14612/3,800/KD/474 [P.T.O.

2. Describe the various kinds of partners in a partnership firm
and discuss their rights and obligations.

TF WP FH F RN ® i YR 995t qon 5
AR @ Ffaal &1 o Ffsm

3. Clarify the difference between cooperative organisation and
company.
FEHh H13T 3 A § 3R TR i

4. Differentiate among Industry, Commerce and Trade.

IUAT, AT F SR H 3R T Hife

5. Define a private company. What privileges and exemptions
are enjoyed by a private company under the Indian companies
Act ?

T ot Fo w1 aftar ) SR weE sifufem
% Fmfa TF Fet wer w1 w0 faefuer W w2 ww

#?
6. Explain the steps taken by promoters in the promotion of a

company.
TH O ® Y999 U Wadswi ga fou o T fafys
HEHE FHT FUA FHiT|

7.  Write a detailed note on the changing role of public sector in
India.

IR H WESE &7 F agert gfyw W U foga feoqof
fafaw
8.  What are the benefits of entering into joint venture ?

T OE9 H WOY & $ N oy o7

14612/3,800/KD/474 2
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OBBA/D-16 14613

BUSINESS ACCOUNTING
Paper-BBA-102

Time : Three Hours] [Maximum Marks : 80

Note :

e :

Attempt five questions in all. Question No. 1 is compulsory.
All questions carry equal marks.

FA 9 T F IW AW W gem uw At )
oft a & ofF Tum ¥

Compulsory Question ( 37far yy)

1. Write short notes on the following :

(a)
(b)
(©)
(d)
(e)
®

Generally Accepted Accounting Principles.
Revenue Realisation concept.

Compound Journal Entry.

Intangiable Real Accounts.

Compensating Errors.

NN W W W W

Contingent Liabilities.

= W e feofet g .
(F) T@®H1 * g fagim

(@) 3w Wi T TR

14613/3,

800/KD/473 [P.T.O.



Qvﬂﬂﬁﬂﬂ%
Evﬁ&mﬁ@ﬂ@a

(3) wfrge e
(7)) Tefed o

Define Accounting. Which parties are interested in accounting
information, and why ? 16s

%ﬂ%ﬂ_%ﬂﬂm%l%@
quFR T @ § SR

What do you mean by accounting equation ? Giving atleast
two examples prove that Accounting Equation holds good
under all circumstances. 16

%ﬂiﬂs@ﬁ@ﬁ%wwﬂ@ﬁ&
%ﬁsﬁ%ﬁﬂ%@m@@dﬁﬁ&ﬂsg%@i

Why is trial balance prepared ? Explain the errors which affect
trial balance. 16

mﬂﬂm&%ﬂ@w“ﬂﬂﬂnﬁmmﬂwm@%
=

14613/3,800/KD/473 2

What is ledger ? Write the need and advantages of ledger.
16

dﬂﬂ%ﬁ%@mﬂ%%ﬂﬂﬁﬂaﬁ%ﬁ@@m_

Distinguish between the following :
(a) Capital Expenditure and Revenue Expenditure.

(b) Trial Balance and Balance sheet. (8+8=16)
frofafad § SR T w
Ammu,ﬂmﬂ._._,m =g qgl A () =4l

(@) q9e qA feofg Taao

Pass journal entries to rectify the following errors :

(a) Purchase of T 500 from Mohan was recorded as T 50 in
purchase book.

(b) Total of Sales Return Book was overcast g T 200.

(c) Sales Book was undercast by ¥ 1,000.

(d) No entry has been made for outstanding wages of ¥ 5,000.
(e) An invoice for goods sold to X was overcast by ¥ 500.

(fy Goods purchased from X for T 500 was recorded in Sales
Book as ¥ 5,000.

14613/3,800/KD/473 3 [P.T.O.



(g) Computer purchased for ¥ 25,000 was wrongly passed
through purchase book.

(h) Cash paid to Ram ¥ 400 was debited to the account of
Shyam. (8x2=16)

= ogfedl & gur & fau sHa wfafeal =t .

(%) HET 9 T500 F 9 %A FFa S #w wE o 250
feren T

(@) fawa amdft g &1 Wi 2200 9 afuw @ T
(M) fowa € =1 WE T1 000 H HY & T

Evﬁ.oooﬁﬁﬁﬁ@ﬁﬂan%m%ﬂd_
(F)X 1 99 T TS F d9E H T500 AfrE M

() X ¥ 500 1 71 @hE1 T 3R fawa =@ o 5,000
Q ferar T |

(®) 225,000 F1 FHIR @O T o1 TeRt 9 9 I
¥ fam fean mm

() 9 & T400 FH< fGu U 59 =y & @@ ° efae
C@o ke

14613/3,800/KD/473 4

From the following trial balance and adjustments prepare final
accounts of Mr. X as at 31st March 2015.

Name of Account Dr. 3 Cr. ®

Purchases and sales 1,80,000 3,60,000

Return inwards and outwards 4,500 6,200

Carriage on purchases 2,600

Carriage on sales 1,500

Stock 1.4.2014 32,200

Debtors and Creditors 81,500 28.000

Drawings and Capital 22,000 2,10,000

Wages and salaries 21,000

Sales Tax paid 4,400

Cash 3,000

Building 1.50,000

Machinery 72,000

Fuel and Power 8,500

Investments 36,000

Rent 4,000

General Expenses 15,000

Interest on Investments , 3,600

Provision for bad debts 2,900

Commission received 7,500

Accumulated Depreciation 20,000
6,38,200 6,38,200

Adjustments

(a) Write off ¥ 1500 as Bad Debts and creates a provision
for doubtful debts @ 5% on Debtors.

(b) Provide 2% for discount on Debtors and Creditors.
(c) Depreciate building by 5% and machinary by 10%

(d) Charge 10% per annum interest on drawings.

14613/3,800/'KD/473 5 [P.T.O.



(e) Closing stock was valued at ¥ 56,700

(f) Rent is payable at the rate of ¥ 400 per month.

16

T few dege d9on TEERERR ¥ 7 X # 31§99 2015
F GHE 8RO 99 % A9 @ 9]

@A A Dr. ®) Cr. ®)
%a a1 fawa '1,80,000 3,60,000
A FoE 9 dEd aadt 4,500 6,200
I T A€ 2,600
fawa T 9=t 1,500
T 1.4.2014 32,200
TR T TER 81,500 28.000
AT T Uit 22,000 2.10.000
ol 9 F 21,000
fast e e 4,400
IFg 3,000
RCE] 1,50,000
Tl 72,000
T g wfem ot 8,500
fafram 36,000
T 4,000
T Fh + 15,000
fafram w == 3,600
| AT WU SENH 2,900
U HHIH 7,500
Hfaa g9 20,000
6,38,200 6,38,200

14613/3,800/KD/473

AT

(F) T1,500 F1 AT AAFL AT HL qe TR WV
5 gfavE # R W Gy H/ON F SmESE F:l

(@) TR q SRR W 2 v g & foaw s w1

() & W 5 yfewm qen " W10 v ® W 9
RIS UIE

() 3o W 10 gfawd it =ars eFmsu

(%) Afm wiae =1 9 T 56,700 &R0 T

(=) fma 2400 whe #t X A A T R

14613/3,800/KD/473 7
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OBBA/D-16

MANAGERIAL ECONOMICS -1
Paper-BBA-103

[Maximum Marks : 80

Note : Attempt five questions in all. Question No. 1 is compulsory.

e

1.

14614/3,800/KD/456/Trans.

All questions carry equal marks.

FA e T % SW AN T wen 1o sfEe R
Tl W ® ofF TN T

Compulsory Question ( 3rfam@d wyw)

Answer all parts briefly :

(a) Define opportunity cost.

(b} Define and draw individual demand.

(¢) What do you mean by marginal utility ?

(d) Write two goods whose cross elasticity is positive and
two whose cross elasticity is negative.

(e) What is the relation of total and marginal revenue ?

(f) What is the significance of selling costs ?

gsft 9 & wiw J 3w G -

(F) AW A F IR FHife

(@) =fea mim w5t gfenfya gen fafm st

() daia sTEiTE | a2

(%) T TT Ay e wfaeiE oA 8@ qen |t
T T FaEy e w82

[P.T.O.

(¥) |A TN WHlG ToE F1 w GEy 27
() fawa arml =1+ TEE 22

What do you understand by Managerial Economics ? What is
its scope and nature ?

TR SR § o9 T T 2 TEE 4 g Wt
27

Write a detailed note on law of demand and tell main
determinants of demand.

ﬂ%ﬁﬁﬂﬁ@ﬂmﬂmﬁw@nmﬁnﬂ%m@
frufet = sarEy)

Critically examine Law of Equi-marginal utility.

ﬂ-ggﬂwﬁﬁﬂmﬂﬂﬂﬂ%ﬂﬂe

Explain short-run and long-run cost curves.

SIE-37afy Fon -l A W wwEmE

Write note on pricing under oligopoly.

HEMEHIRA % qed qea-frefor = o e fafam

How the equilibrium of consumer is determined with the help
of Indifference curve ?

ST FF HT WEA G SYSRN F GOgeq 7 A
T fFa s 22

What do you mean by various types of returns to scale ?

fof vl & fed 3 =@ ¥ smum 7 oo

14614/3,800/KD/456 2
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BUSINESS MATHEMATICS-I
Paper : BBA-104

Time : Three Hours] [Maximum Marks : 80

Note : Attempt five questions in all. Question No. 8 is

compulsory.

e &mq@ﬁ&%wﬂ.&ﬂﬂﬁﬁgm%w_

(a) Prove that A- (BuUC)=(A-B)n((A-0). 8
4 5 _3
(b) Solve -1 x+2 x 8

(%) fag :fT fF A-BUCO)=(A-B)N(A-0O).

4 5
x-1 x+2

= |w

(@) T@ HIfT

(a) Prove that p &> g=(p = q) A(g— p). 8

/* +1

(b) Find LM =

14615/3,800/KD/1009/Trans. [P.T.O.



(F) fag T &F pog=(po>9 alg- p).

e* +1

(@) @ Hifog Lim

MlvO&H\x|H.

3. (a) Find the inverse of the matrix

1 1 3
A=|1 3 -3 8
-2 -4 4

5 9
(b) Find the middle terms in the expansion of hw% - %Iw .
X

8

(%) Frafafeaa amge =1 gore T FINT :

1 1 3
A=|1 3 =3
-2 -4 4

2 3x

14615/3,800/KD/1009 2

4. (a) Solve by using Cramer's rule :

6x+y=-3z=35,
x+3y-2z=5,
2x+ y+4z=8.

x
AESo<09m::oamxw8=8<&=ooﬁ AWU wmmzm. m

X

(F)PW F P & STEM g0 T B
6x+y-3z=5,

x+3y-2z=5,
2x+y+4z=8.

(@) fag #ifw fF @.u w1 afuwad WA e R

3 1
5. For the matrix A= _— find x and y so that
A% + xI = yA . Hence find AL 16

14615/3,800/KD/1009 3 [P.T.O.



31

7 s % faw x a y = 9 I@ S

ATE A=

WE A% +xl=yA. S0 Al & 99 F@ s

6. (a) If xY—y* =1, find Mm 8
(B) If xPy% = (x+ y)?*9, prove that 2 =2 8
% v\ ’ & X )
) 2 S, T FE AR o o
d
(@) fag =S f& &H M_.Nkw =(x+ y)P*e,
7. (a) Prove that :Oﬁ + :Ol = =+H03 1<r<n. 8
(b) A polygon has 44 diagonals. Find the number of its
sides. 8
(#) fag =ifwe & "c +"c_ =""!C, 1<r<n.
(@) Ik Tw 9@y & 44 fawol &, @ T@H1 genet w5
& 9| it
14615/3,800/KD/1009 4

Compulsory Question ( 31fard wy=)

8. Attempt all the following :

(a) Solve N.«LHWL.

(b) If A =1{1, 2, 3}, find the power set P(A).

(c) Evaluate °C, + °C, + °C, + °C, + ®C, + °C,

x2 -1

Li
(d) Evaluate xwﬂ -1

dy 4
(e) If wl,:+x prove that Nv\&x =5x".

(f) If o and B are roots of the equation x? —3x +2 =

o B

find the value of W + r’E

(@ If y=x, find 9.
dx

0,

14615/3,800/KD/1009 5 [P.T.O.



Qq.
1 3 4 2 1 (®) & w1 AA Wa wfEe AR - o

(h) :>% Qaawn -5 4 |;find A-B" dx
5 2 7
6 -3
) 1 3 4
2 Ev>-wﬁﬂmaﬂamam>uT , Lmﬁ
frafafas o+t &1 g ST
21
X B=|-5 4
(F) g1 HIfST NRIAHMIH. 6 -3

(@R A={1,2,3 @ 99 ¥g=a P(A) ¥ I
Al

(M 7@ FWT °C, + °C, + °C, + °C, + °C, + 6C;.

. oxt -1
(9) € &ifST Lim

-1 x—-1 :

@ y=flex T g A 2D sy,

(M AR o TN P FHFW 42 _3x42=0 F TA T,

ﬂw+mﬁﬂmma%m_

14615/3,800/KD/1009 6 14615/3,800/KD/1009 7
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HINDI
Paper-BBA-105

Time : Three Hours] [Maximum Marks : 80

AT : FA U T ® SW @ At T (W TEew
8) wferd B W&F W B 16 % T

1. T afafem, 1963 W Y e
2. UL F 1960 F HRW F FUN Fie
3. IgWE W uftvrwr Iewwr wfgd fafau
4, USiFEA ® qRew o ST fafew
5, SR % W®Y H W= Hi

6. Ucored &1 wfwan fafaw

7. Tfafas ow=f & et =9 fafam)

Above mentioned, I agree, As directed, As proposed, Do
the needful, Follow up action, Act of misconduct, Please
see me.

14616/3,800/KD/1459 [P.T.O.

tfErd woe
fodt w@ famg | a9 300 o= w1 U Ty fafau

FeMYE, Tt ¥ B # SuEfn, meWE, oriw™
=R, dveiet ok ardE =

14616/3,800/KD/1459 2
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COMPUTER FUNDAMENTALS
Paper : BBA-106

Time : Three Hours] [Maximum Marks : 50

Note : Attempt five questions in all including question no. 1 which
is compulsory. All questions carry equal marks.

A ;Y TEw 1 AtEd B ga uie v % sw S
gty F F qEAH

(Compulsory Question) ( 3TF@ET™ W9)

1. Answer the following in short :

(a) What are the functions of a microprocessor in a computer
system ?

(b) What do you understand by internal and external DOS
command ?

(c) What is the difference between Date, Time and Time
Zone ? ;

1)

(d) Discuss the list of commands available in the menu bar
of MS-Word.

(e) Define Application Software. List the different types of
Application Software.

(f) What are the uses of animation features in MS-Power
Point ?

14617/3,800/KD/455/Trans. [P.T.O.



= =1 Ham A sw S

(F) TF FX YOl § TF TEhHE & 7 1 87

(@) 37l e 9@ DOS FHET ¥ MY T THgH 7

() 2T, TEH TA W WM B oY T SRR 27

() MS-Word # =R ® dg #arel 1 get &t ==
Eais 1

(F) THHIA HRaRR i fim Fife Tlev Seam
% fafrs wor &t gt AR

(&) MS-Power point ¥ THHYH =R & 7 ST 32

What is a Computer? Discuss the historic evolution of
computers. Explain various classifications of computers. 10

FIR N T TR & Wfefas fawm w1 ==t i
FR & fafvm affewn #1 ==t S

What is role of Input and Output device in a Computer
System ? Discuss various Input and Output devices. 10

FIIR O § TR 91 SSeqe I F w;m qfrwr 32
faf= ¥oR & Y ARy A Wt == Wiy

How Window differs from DOS ? Explain the features of
Windows. 10

fa=g! (Windows) DOS ¥ ¥ Y#R 9= 22 Windows
F! faviaaed + w9

14617/3,800/KD/455 2

(a) What are the different types of alignment available in

MS-Word ?
(b) How tables are created in MS-Word? How merge and
split cell option works in MS-Word ? (5+5=10)

(F) MS-Word ¥ AR fafw= &R & o= w1 #7

(@) MS-Word ¥ 29 9 a0 §7 MS-Word & H qen
foore da w38 w@ 2

Write note on the following :

(a) Header and Footers in MS-Word.

(b) Superscript and Subscript in MS-Word. (5+5=10)
frefafas w @@ fafan .

(F) MS-Word ® B a2 TR

(@) MS-Word ¥ grifere a1 gafare)

What are the uses of MS-Power presentation ? Explain
different types of view used in MS-Power Point. 10

MS-Power Point TSI2¥F % =1 ITIRT €2 MS-Power Point
H svEm fafes vR % 5w TR

Write the different steps for inserting, an image, sound and
clip in a MS-Power Point presentation. 10

TF MS-Power Point T5e¥H ® TF THS, Qv qe faqg
T & fau fafy= =mof =+ fafau

14617/3,800/KD/455 3
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BBA/D-16 14618

UNDERSTANDING HUMAN BEHAVIOUR
Paper — BBA-201

Time : Three Hours] {Maximum Marks : 80

Note : Attempt five questions in all. Question No. 1 is compulsory.
All questions carry equal marks.

e : ®/A uTg WA ® IW AW e gewm 1 sferd 2
gft weAl & R wEA €

Compulsory Question
(tfram W)
1. (a) Fundamental Attributional Error.
difers A9or el
(b) Self-acutualisation Needs.
-SRI STETIFRIAT |
(c) Emotional Stability.
RIERICCRS D]
(d) Positive and Negative affectivity.
HHRHF T THNHS FHERIN
(e) Conscientiousness.
EGEif!
() Golem effect related to Perception.

Y g AT MeAd JHE)

14618/6,800/KD/1273/Trans. [PTO.



2.

3.

Explain the determinants of Personality. Which are the
most frequently used tools to measure Personality ? (Explain
in detail).

g & il # HEEy SRRd ® AT 6 @
woifus v SR 1 § ? (fawngEs qEER)

Explain the following Model of Motivation :
won & Frafafea ded w1 qHERT
(a) The Need hierarchy theory.
AEIEA WEFEA A=
(b) Herzberg's two factor theory.
™t w Y FwRE GE
(¢) Theory of X and Y.
X da Y %1 fagia

Define Perception and explain its meaning. What is object
Perception ? Which factors related to the target can affect
the Perception process ?

Ty w1 wRwfE BT a0 9w Y FEERy a9y
1 % 7 e § FAA BH-¥ FRH, Ay AR H gfed
FT GFA € ?

Define Learning. What are the fundamental principles of
Learning and how are they involved in organisations ?

s =1 Tfeafie FfT Sen § gerg fagr w € e
3 gl § frg we wiwfem ¥ 2

14618/6.800/KD/1273 2

What does affective events theory say about the effects of
People's emotions on their behaviour in organizations ?

T § A S qrEet 1 ST SRR W UHE B AR
N grarers el w1 fagra w0 wEd ¢ 2

What is "Cognitive approach” and why is it so popular in
the field of human behaviour today. Explain how people’s
changing expectations about the desire to be engaged in
their work, the need for flexibility in work, and the pressure
to promote quality have influenced the field of OB.

“ T R R R 9ol TS 98 WMd STEER %
&% § T wag F ¢ 7 oWERe R R, @l W ST
w4 § =@ WY F T F S<on orvamd, wE A
ST ) STEvdaSal qd e H gfs ® <@ A
TraeTE SHOER ® &% @ weifed fRam ¥ 2

Write detailed note on the following :
frefafes ® faga e fafay -
(a) Memory and Forgetting.
oo wifsd den e
(b) Physiological respones in emotions.
el # wrifes fafwerd
(c) Social Learning Theory.
gmfer e fagral

14618/6,800/KD/1273 3
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MICRO BUSINESS ENVIRONMENT
Paper-BBA - 202

Time : Three Hours] [Maximum Marks : 80

Note : Attempt five questions in all. Question No. 1 is compulsory.
All questions carry equal marks.

A : FHA U WA F IW AW G G | AEE 2
aft yvH ® fF gHE 2

1.  Explain the following in upto 100 words each :
(a) Concept of business environment
(b) Social factor
(c) Strategy
(d) Economic planning
(e) Professionalisation
(f) Competition Act
(g) Socialism
(h) Planning role of government.
ffafed g% &1 100 v 96 § IW T
(F) SFEHTF FAEOT FH RO
(@) 9mfSe FF
(M) T
(%) enfefw frarsm
(%) SAmEEtaEwa

14619/6,800/KD/454/Trans. [P.T.O.



14619/6,800/KD/454 2

() vfoeaert srfufram 6.
(B) GUNETE
(F) SR &1 s fmio i)

Describe the Economic and Political forces affecting business 7
and growth.

FIEE TA WG Hl g F orelt s qon qoifes
vifsal 1 gul Fifsu
What do you mean by environmental scanning ? What are

sources of data for environmental scanning ? Also explain in
brief SWOT analysis.

8.
AN ATAFT § 3TIRT T 378 27 SRET sTaeiier

% SwS ® W@ ¥ €2 wWie (SWOT) favewe F st

TE9 H gHeRu)

What is country risk ? What are types of country risk ? How

can we control country risk in investment decisions ?

T2 SifEm =01 8 27 U Sifew § F-a TR 82 =7y
fraw fofal & 3@ g Sifew = #9 fEfE 9 9wy 2
Differentiate between the following :

(a) Capitalism and Socialism

(b) Regulatory role and promotional role

(c) Social Responsibility and Business ethics

fefafaa & d= o TarT

(%) YSIamg de FHER

(@) Frams qfirsr qen TOR sftrr

(1) WIS IR wen SrEEaE St

Describe objectives, strategy and problems in economic
planning.

Tl Fraem & Iival, wrifa qon weemet # s
HIfSTT

Bring out the economic role of Government in business. To

what extent our government has played its role successfully ?
Also mention constitutional role in business.

Fa9E o WEHR FHI EF JfFwr w5 IR R 2
TR 7 TROAgEE SO qfte fRY 3 aw feE 8
SEAEE W TAHE g w1 ff seom it

Do you think the provisions of MRTP, ACT are still relevant
for business to ensure healthy competition ? If yes, describe

how ?

oM A € fF wemAd. (MRTP) sfufrm &
a3t o rEEm § we wfredt w5 giliee s e
¥ yefw € Ak e, @ =men #f e fy e

14619/6,800/KD/454 3
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BBA/D-16 14620
BUSINESS STATISTICS-I
Paper : BBA-203
Time : Three Hours] [Maximum Marks : 80

Note : There are eighs Questions in this paper. All questions carry
equal marks. Attempt five questions in all. Question No. |
13 compulsory.

TE: T WA 7 e WA H wh v R s T
w_aﬁiﬂi&mﬂ&ﬂeqﬁﬂgH
S #

Compulsory Question ( 3rfrars )

1. Explain/answer the following parts in very short :
(a) Applications of Statistics in Business.
(b) Limitations of Statistics.
(c) What is the need of Business forecasting?
(d) Distinguish between Mean and Median.
(¢) Write down formulae of computing the following :
(i) Mean Deviation.

(ii) Geometric mean.

14620/6,800/KD/453/Trans. {P.T.O.



(iii) Paasche's Index number.

(iv) Kelly's Index number.
(f) Sampling Errors.
(g) Meaning of Kurtosis.

(h) Write formula of Skewness.

fafga i 1 oY ¥ gHeEys® T

(%) =T A WRET! % S
(@) wifem! # H .
(T) SR QEER F R AEIRA 27
(&) WA T AT ® A HR TR
() Frafafe = T % fe g3 fofe
() A e
(i) wenfafe T
(if) W FI Fw T
(v) Fh F wEF FEA
(=) s e
(%) T w1 4|

(w) fawmn =1 g7 fafaw

2
14620/6,800/KD/453

2. (a) Describe types of statistical methods.

(b) Describe with example the yge

of graphs in business
decision making,

Aﬁﬂmﬂﬂagﬂgﬂﬂ@%ﬂ

Amvﬂaﬁwﬂwﬂ%%i%ﬁ%ﬂ

IRET Ry
SRS Fifsruy

3. (a) Drawa bar chart to represent the following :

Year 2009 2010 2011 2012 2013 2014

No.of 32 37 39 40 42 40
women

MP

(b) Describe any four methods

of collecting primary data
by giving merits and demeri

ts of each.
@nﬂ@amﬂ%rﬁﬁ%ﬂ@mﬂ,"

CL 2009 2010 2011 2012 2013 2014

A% 9 3 37
nfearst
F &

39 40 42 40

14620/6,800/KD/453 [P.T.O.



4.

(a) Explain the relationship between mean, median and
mode.

(b) From the following data compute the value of median
and mode:

Marks 10-20 20-30 30-40 40-50 50-60 60-70

No. of 4 6 10 15 8 7
students

(%) "rem, Aiftasn] A1 9goid P S TSy ® GHIEU

(@) fFrafafaa sifwel gr1 wfige qen sgos &1 oM
HIFAT ;

AH 10-20 20-30 30-40 40-50 50-60 60-70

e B 4 6 10 15 8 7
e

For a certain class of workers, numbering 700, hourly wages
vary between Rs. 30 and 75. 12% of the workers are earning
less than Rs. 35 while 13% are getting equal to or more than
Rs. 60, out of which 6% are earning between 70 and 75. The
first quartile and median wages are, respectively, Rs. 40 and
Rs. 47. The 40th and 65th percentile are Rs. 43 and 53
respectively. You are required to put the above information
in the form of a frequency distribution and estimate the mean

wages of the workers.

14620/6,800/KD/453 4

FR & TF A= Tt #1700 g ® faw, ufq gve
AoEd T 30 qA 75 & fw wRafda @ R 129% FR
T AFAFM R T T@F 13% T 60 § & SR A1
Y fr FW R B, e | fF 6% SR T 70 T 75
F A9 FH W T YW Tgds qe1 W TR HE: 3.
40 T T 47 B1 4081 A 6591 WRRTGF FHI: . 43 qAq
53 %1 SWea GO ! TH IRARA IR B w9 § 90T
T FE HI AT TS F STFHST HAU

From the prices of x and y shares given below calculate
standard deviation in prices of both and state which share is
more stable in value :

Pricceof 55 54 52 53 56 S8 52 50 51 49
share x

Price of 108 107 105 105 106 107 104 103 104 101
share y

9 RY T x qo y R F g gW I ® g ¥
A% faeem &t T FIRTT qen a7 waRy fF eR-m
IR g § Ay fer 2

™R x 55 54 52 53 56 58 52 50 51 49
#1

IRy 108 107 105 105 106 107 104 103 104 101
LI Gl

14620/6,800/KD/453 5 [P.T.O.



7. (a) Write advantages of sampling as compared with e

census method.

(b) Explain various methods of business forecasung °¥

illustrations.

(F) o fafe #1 g B ufem fafy § e s
glel

(@) =R EigaE % fafe= el | e gw
O

8. (a) Show that, in general, Laspeyre's price index is greater
than Paasche's. When would this not be so ?

(b) Calculate index number of prices for 2005 on the basis
of 2000 from the data given below :

Commodity Weight Price per unit  Price per unit
2000 (Rs.) 2005 (Rs.)

A 40 16 20
B 25 40 50
C 20 12 15
D 15 02 03

(%) TAiET fF TR IR W AEY ed gEIE Ge

o ° sfus g B w9 T T e 22

14620/6,800/KD/453 6

Aﬁvﬁﬁﬁﬁugﬁjm&ﬂﬂﬁgﬂdﬁ

2005 F FHF G HT TUAT HIAC

EE)

s

U 0w

14620/6,800/KD/453

T R g wf e e

40
25
20
15

2000 (3.)

16
40
12
02

2005 (%.)
20
50
15
03



Find out :
(a) Sales.
(b) Sundry debtors.

(c) Closing stock.
ABC fa. =t nfafafisl @ wefim emqum f=fafaa

3AGR AT 3 e
e an 8§ HE
TER 3 2 AE
HHe o ST 25%

31.3.2015 & WHTE TC T9 F U wFA A9 T 4,00,000
Bl 9 w1 ofim =i, yEed! Wi # ogera o
T 100000 3tfies 2 W fae =t A T 25,000 o 27
fam = T T 10,000 B

I@ HIWT

(%) faamli

(@) fafay SRR

(M) 3ifm wIw|

14621/6,800/KD/452 4

ROIINO. v,

Time : Three Hours]

Total Pages : 4

14621

BBA/D-16

MANAGEMENT ACCOUNTING
Paper : BBA-204

[Maximum Marks : 80

Note : Attempt five questions in all including Question No. 1

e

1.

which is compulsory. All questions carry equal marks.
W1 §E& | (e ) 9fed | uie T @ SW
dfwm oy B ow guE 2

Compulsory Question ( 3T ard wy)

Describe the following :

(a) Management Accounting.

(b) Nature of Ratio Analysis.

(¢) Costing Methods.

(d) Flexible Budget.

(e) Marginal Cost.

(f) Uniform Costing.
frefafag =+t aviF wifvT :

(F) FEUH @Al

(@) 31ua favewor ®1 yefal
() omm i fafea

(%) AT F9=

(%) dHia

(F) 9 ArE-Fryfon

14621/6,800/KD/452/Trans. (P.T.O.



“Management accounting has been evolved to meet the needs
of management.” Explain.

‘TSR i H IHT TEEA H SEvIEHaS #1 ufd
% fam gom ?1" T e

Explain how cost accounting helps the management in periods
of trade depression and competition.

ey F o o, SR EER adr yiaegdt ®
g YEuH # fFY TR ° weeE a2

What is Master Budget ? How is it prepared ? What are its
advantages ?

TR S92 71 Bl 27 39 R R 9 27 W
o 82

What is Target Costing ? State its features and limitations.

wfe omma-fuiter s 82 ot faviwast qur et Y
TR

Explain the features of Marginal costing and its useful
contributions to the Management in decision-making.

Hrra ara-fraior #t fovvaret qen vavw = ol o
T 9@ ST IEH % GHERT

The standard cost of a chemical mixture is as under :
8 tons of Material A at ¥ 40 per ton.

12 tons of Material B at ¥ 60 per ton.

Standard yield is 90% of output.

14621/6,800/KD/452 2

Actual cost for a period is an under :
10 tons of Material A at ¥ 30 per ton.
20 tons of Material B at T 68 per ton.
Actual yield is 26.5 tons.

Compute all Material Variance.

TF TOEE A9 # OFe dF| 39 YER ©

Tt A F1 8 T T 40 WF =T | A

it B 1 12 T % 60 W = W W QI

T IARA, NSTYE B 90% 2

TF afy F fau arafys T T YR §
T A F 10 29 T 30 WG T F R Q)
Tt B W1 20 27 T 68 WA =7 &t R I
Frefas® IRT 26.5 T R

gt gt afied i wt T S

Following are the ratios relating to the activities of ABC Ltd :

Debtors velocity 3 months
Stock velocity 8 months
Creditors velocity 2 months
Gross Profit Ratio 25%.

Gross profit for the year ended 31.3.2015 amounts to
% 4,00,000. Closing stock of the year is ¥ 10,000 above the
opening stock. Bills receivable amount to ¥ 25,000 and bills
payable to T 10,000.

14621/6,800/KD/452 3 [P.T.O.
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BBA/D-16 14622

FUNDAMENTALS OF DBMS AND ORACLE
Paper-BBA-205

Time : Three Hours] [Maximum Marks : 50
Note : Attempt any five questions. Question No. 1 is compulsory.
Hz ;. fEE e wE ® S AR WA g 1 s

Compulsory Question ( 3TFaT™d w9T)
1. (a) Abbreviate
DDL, SQL. DBMS, DML
(b) Differentiate Data and Information.
(¢) Name two Mappings used in 3 views
(d) Define Primary and Secondary key.
(e) Define Physical Data Independance. (2x5=10)
qu w9 ddriy
(%) DDL, SOL, DBMS, DML.
(@) AiFel au g H R FqE
(M) = Y F AW waen S 3 g I el
(%) IEH0 qur Ghved Fei (key) i TREWT AR
(T) Sfas sfFe =T F1 9Rafa Fifsm)

2. Define Data base. its components and differentiate from
Traditional file system. 10

TG q1 TAF TTH! T YR TqET qo IR wEd

goelt | TEeR! T saEul
14622/6.800/KD/451/Trans. [P.T.O.

Explain 3 views of Physical Model and discuss working of
DBMS. 10

i oied & 3 =7 F TUIET qu1 A TATE. (DBMS)
F1 HE-YOEd T THHET

Explain Relational Model and properties. 10

feva dfed qen 39 O H FEEEy

Explain Major advantages of computer in commerce. 10

Ffea § FYX F g ol $1 GHmE

What is SQL ? Write its components. Write rwo commands
each for each component. 10

SQL 1 Bl ®? TH% W] &I @ Y& WeF & o
 wAre fafay

Explain operators used in oracle with example. 10
HRFHA (Oracle) ¥ THEA TH A SR HI ST
8I HHSATRT)

Write note on the following :

(a) Scalar functions.

(b) Group functions.

(c) Select with Group by.

(d) Select with Order by. 10
frefafed w e fafan .

(%) sifce (Wer) el

(@) g wer|
() Group U II9 Hifwq|
(9) Order R =44 Hife)

14622/6,800/KD/451 2
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BBA/D-16 14623

BUSINESS COMMUNICATION-II
Paper : BBA-206

Time : Three Hours] [Maximum Marks : 80

Note : Attempt five questions in all. Question No. | is compulsory.

AT . wA U W F SW AT 9 g 1 At @

Compulsory Question ( 3 am wo7)

1. Attempt any four of the following :

(a) Oral Communication.

(b) Public speaking.

(c) Negotiation.

(d) Telephonic conversation.

(e) Listening.

(f) Organisation Communication. . (4x4=16)

frafafes 9 9 f@<l o) = 3w Afae .

(%) Hifgs =R

(@) dfserer foafen

(1) FEEha A

(%) TTHHE W I

(%) gm

(F) TBAHE TOR
14623/6,800/KD/450/Trans. [P.T.O.



What is Business communication ? Discuss its nature and
importance. 16

IR HER M E? TR WEM a1 wewd w1 e wifww

(a) Discuss various steps involved in communication process.

(b) Elaborate various communication barriers and Gateways
to effective communication. 8x2=16

(%) H9R ¥ ¥ OeR fafe= =won w1 99 i

(@) yret guR o iy ger awned qur wow g &
fomr | auiw Fifem

Define Business Writing. Also discuss Do's and Don't of
business writing. 16

IR o@A 1 9o FIf90) sa9R ogT § F HY qd
F A F FT A T= HIS

(a) Define Commercial letters. Also differentiate between
commercial letters and personal letters.

(b) Define various aspects involved in an effective interview.
8x2=16

(F) ool v ) aftsfyg +ifsm) aiforfsrss 93 @en
et o3 ° R o T HifSm)

(@) TF JE TR § AR fafi= weqst w5 aftwfia
Eding

Write a detailed note on mechanics of writing. 16

TET el W & fawga 9w fafau

14623/6,800/KD/450 2

7.

Define the following :

(a) Non-verbal communication.

(b) Business and Academic reports.

(c) Business meeting and its types.

(d) Report Presentation. 4x4=16
frefafen =1 afenfra Fifs .

(F) sifE® T= R

(@) =R g Sferen fard

() SR FSF TA TIH FFR

(w) fard aegfeo|

Define organisation communication. State its components and
importance in the present business scenarios. 16

WA FER F aftswfya s sdue =R aftigs |
IUF Tl aen gewl w1 feufy w1 avl @i

14623/6,800/KD/450 3
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BBA/D-16 14624

BUSINESS LAW-1
Paper : BBA-301

Time : Three Hours] [Maximum Marks : 80

Note : There are eight questions in all. Candidate is required to
attempt five questions in all including Question No. 1 which
is compulsory.

AT : T A Y FA IS WA F e WA wem | ahed,
FA Qi Y ® IW S

Compulsory Question ( 31fard wgT)

1. Discuss the following :
(a) Contractual capacity of a minor.
(b) Doctrine of Frustration.
(c¢) Lien.
A& Pretended agent.
(e) Unpaid seller.

S S T S I (S TR S B N

(f) Proposal.

frefafas w w9t Fifsw ;

(F) TF AT HI EY &0
(@) froen =1 fagia

() gAUREONfYER
() T e

14624/6,500/KD/449/Trans. [P.T.O.



(¥F) sprara fershen

(3) 7@

Write a detailed note on agreement. Also discuss different
types of agreement. 16

TR W U fawa e fafaw fate veR # gEgal
1 off == wif

Explain when a consent is not said to be free ? What is the

effect on the formation of a contract if the consent is not free ?
16

TR fF %9 TF T F Wad T8 HE T TEha 87

T Iy F M | a9 w0 g9E ge@ ¥ SEfE o

@A e A

Differentiate the following :

(a) Condition and warranty.

(b) Sale and agreement to sell. (8x2=16)

frafafas § sim sdwT -

(F) W @ IR

(@) fora qen fawa &1 gER

Define an unpaid seller. What are the different rights of an
unpaid seller ? 16

TF Tt fomdr #) URWM 9AET TE S
faga & fafi= sfer =0 &2

14624/6,500/KD/449 2

6.

(a) Explain the situations in which the buyer get a better
title than seller.

(b) Define the rights and duties of a Principal in case of
agency. (8x2=16)

(%) 3 feafmal w1 Ty wofF @) ® faa |/
FER ST i et R

(@)% W » o9 § & fifgee & sifver @
Faeal ity st

UNIT-1V (F&E-1V)

Define negotiable instruments. Also discuss the essentials of
a valid endorsement of a negotiable instrument. 16

T feradl 1 gRET SR U W foed ® Ay
IAHIEA ® WA T Hi Fdl Hie

(a) Define Quasi Contract. List the quasi contracts dealt with
under Indian contract act.

(b) Crossed cheques. (8x2=16)

(F) g gfagy &) IR S IR ey AfufEm
H YOId e w1 9wt

(@) @itk (FE) |

14624/6,500/KD/449 3
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PRINCIPLES OF RETAILING
Paper : BBA-302

Time : Three Hours] [Maximum Marks : 80

Note : Attempt five questions in all. Q. No. 1 is compulsory. All
questions carry equal marks.

AT ;. A U WA B SW ARy gem 1 sfEd 2
adt W # fF wuH B

Compulsory Question ( 31fHard wes)

1. Write short notes on the following :

(a) Organized vs. Unorganized retailing.

(b) Assortment planning and range planning.

(c) Signages and Graphics.

(d) CRM in retail.

(e) E-tailing.

(f) Types of retail locations.

frafafer w wfya T fafeu .

(%) gfeq &M swnfoa ffam

(@) it e dan gt s

(M) irew o wEAs

() & # d.emTA. (CRM)!

(¥) 3-2fam

() fea o & TR
14625/6,500/KD/448/Trans. [P.T.O.



How has the Indian retail shopper changed? What
developments in retail have come about as a consequence of
changed shopper?

TR fea TleeR fFe yR @ a5t T 22 fow § fea
faml % IROTHEEY 9ed gU SRS # qE ®9 @7

What developments are taking place in Indian retail property?
What problems are likely to arise due to the rapid and
unplanned development?

qRdt fed yadl ¥ w7 fawrg 8 @ €2 99 qun sitEifae
fawm # TR0 F v @S @ A &2

Discuss the principles of store design. What elements should
be considered while designing the store?

R feamm = fagid =1 == SN @1« oo +a@
T e o &1 9m @ WA afge?

What legal issues are involved in sourcing of merchandise
from domestic and international markets?

e T SRl aen | wa-fawa o witer s wee
T 22

Discuss in detail the process of merchandise planning in retail.

e ¥ wa-fowg am &) 9w = fose ==t Fif)

Discuss the importance of HR in retail. What decisions are
taken related to human resource management in retail?

fead o AMg EeA (HR) & "ewd &1 =949 sifvw e
¥ OFa gOvE yeud ¥ gafug w0 folr g o @2

14625/6,500/KD/448 2

What is the need of technology in retail? Elaborate the
cases of ftwo companies which succeed with the usage of
technology.

f3e o gle ® T NEYAEH 87 & FUHG B AR |
FulR HifTu fS=7 awfle & ST g0 9%od Wd @i
2

14625/6,500/KD/448 3
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BBA/D-16 14626
PRINCIPLES OF BANKING
Paper-BBA-303
Time : Three Hours] [Maximum Marks : 80

Note : Attempt five questions in all. Question No. 1 is
compulsory. All questions carry equal marks.

AT . HA W WA F SW AR wT wE@em 1 stE R
ot A F 3% TEN B
Compulsory Question ( f¥aTd w9 )

1.  Write short notes on the following :

(a) Bank management

(b) Types of Book accounting

(c) Rural Banking

(d) E-banking

(e) Lien

(f) Cash credit limit

(g) Universal Banking

(h) Commercial Bank.

Frafafas w fara e fafag -

(%) I FeH

(@) §% TE F TR

() T SfE

(%) -9

(¥) gHiomfasR

14626/6,500/KD/447/Trans. [P.T.O.



(F) THE o G
(B) Tl SfE
(F) affers ¥

Explain concept, classification, objectives and functions of
Banks.

Ji H uron, Fftewor, AT qA FE F EEARC
Describe the main provisions of Banking Regulation Act,

1949.
e Frams sfufEm, 1949 & & WEYH w1 99

FHifagl

What do you mean by rural Banking ? Explain various
initiatives of government to promote rural banking. How does
priority sector lending help the rural sector ?

o AfET Qe @ ot 2 Il Sfe @ WER #
ot TR 3R it T A EeTal H ey wufE
&7 ® w0 WRA F@ ¥ fRe aw@ o &9 | weE
ferdt &2

Explain the term ‘collecting banker’. What are duties and
responsibilities of collecting banker regarding collection of
cheques ?

‘HEE S TR H GHGEU 9 ® WERY % wa™ o
ToeE dFT B wHHsAl g SORaE w87

State the nature of relationship between a banker and a

customer in regard to a safe custody of account. Also mention
the special services rendered by banks to customers.

T TN H g PR @ ded § T S qw
UEF B A9 T F THA T GGG SH) FR TR H
YEE # 9 g faee qaei @ o S wifau

14626/6,500/KD/447 2

7.

Describe the following :

(a) E-banking reforms in India.
(b) Retail Banking functions.
(¢) Mobile Banking.
frafafes &t =men s .
(F) 9@ H -3 gur

(m) fea Ifwn we

(M) demEa SfEm

Describe the mechanism used for evaluating performance of
banks. Also explain in brief credit cards and debit cards.

¥l & FE-Froes ) goaifrs & faw v frar-a =
= wifeu #fee w1 qun fae FE w® of daw A
HHEE

14626/6,500/KD/447 3
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BBA/D-16 14627

FUNDAMENTALS OF E-COMMERCE
Paper : BBA-304

Time : Three Hours] [Maximum Marks : 80

Note :

e -

Attempt five questions in all. Question No. 1 is
compulsory. All questions carry equal marks.

FA A T SR A\ gem 1 e R
gty @ o wEm

Compulsory Question ( 3@ W)

1. Explain the following :

()
(b)
©
(@
(e
®

Differentiate between e-commerce and e-business.
Domain name disputes in e-commerce.

Online Payments.

TCP/IP.

Cryptography.

B2B e-commerce. (16)

= = ofenfe =X
(%) -wAd iR =R % d= # @
(@) Fmd § s AW fqar|
(M) AR P
() TCPIP
(T) FaEA
(=) dodr -+
14627/6,500/KD/472 [P.T.O.



(a) Define e-commerce. What are different benefits and
limitations of e-commerce? ®

(b) Elaborate the implications of e-commerce for accounting
professionals. 8)

(F) T-wmd w Rafom = -wmd = faf= o™
3k due = P2
(@) o W & fou -wmd & ffead v sifeu

Define firewall. Explain components of firewall. Also explain
the limitations of the security prevention provided by the
firewall. (16)

HRREE H qRfie w| FEEE ® Ul % 9R A
qAT| D G BREIA GRI SYG HUE T GRET
Uha™ H W F GHE!

What is EDI ? Explain its architecture. Mention its advantages
and disadvantages. (16)

EDI ®1 27 T0H IgHen % aR N FON) TR FER

AR THEH F Sea@ I

(a) Describe the financial EDI in detail. 8

(b) What is ISP ? What are the factors for selecting an ISP ?
)]

(%) facia EDI #1 famr & aoflw )

(@) ISP ¥ 82 % ISP & =9 & fou o1& = 87

Explain the process of working with digital signature. (16)
fefSeq TR & Y W @ F IFA B AR H

amg)

14627/6,500/KD/472 2

7.

8.

(a) "What is meant by intelligent agent ? Why intelligent
agents are required in e-commerce ? (8)

(b) Explain different controls involved in risk management.
8)
(F) Ifea" Tz ¥ 71 Haow 27 T-Emd § gfgmm
TS D N a2
(@) Sfem yauw # wite fafes freao & ) o
|

Write short notes on the following :

(a) Online marketing (8)
(b) Role of Internet in e-commerce. &)
(F) e "H el

(@) &-Frd § deie w gf

14627/6,500/KD/472 3
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EXPORT PROCEDURES AND DOCUMENTATION

Paper : BBA-305

Time : Three Hours] [Maximum Marks : 80

Note :

AN

1. (@
(b)
(©)
(d)
(e)
®

Attempt five questions in all. Question No. 1 is
compulsory. All questions carry equal marks.

FA U Y SR AU T A 1 e R
gt gl @ F WA T

Compulsory Question ( 3@ wv)
What is GR Form?

What is Commercial Invoice?

What is EPCG Scheme?

What C&F agent does in export business?
What is EPZ in Exports?

Whatis APEDA?

(F) .M. (Y@ I997) ¥ (G.R. Form) & ®ed

22

(@) Tiffe |’ (Commercial Invoice).
(M LR =9 (EP.C.G. Scheme) F &2
(%) U TAvE (C and F Agent) #} frafd ® @ gfgm

22

(¥) fafa & €= (EpZ) T B &2
(3) THEET, (APEDA) fFd Fed ®?

14628/6,500/KD/471 [P.T.O.



Which steps are taken at Registration and Pre-shipment stage
of Export Procedure?

frafa wfFm & oo (Registration) @ TR T
(Pre-Shipment) @ (Stages) W ®HA-®H 4 & fFHU
K1 7

What is Aligned Documentation System? Which benefits are
available to International trader due to ADS?

TeHYH YeEd YUTelt (ADS) fRY wed 2?2 39 womel 9
Aadsda = W wA-9 oy #?

Write about the format and the applicability of :

(a) Bill of lading.

(b) Letter of Credit.

frafafed 1 g9 qon yatswa@ (FORMAT and
APPLICABILITY) # @R # fafaq:

(%) TE-99 (Bill of lading)
(@) 9@ 93 (Letter of credit)

What is an export order ? Which parties and Acts involved
in the processing of export order ?

frafa oMy fFY w=d &7 Frfa okdw & wow= § 9F
¥ Uy du fufrm wie 89 €2

How regulatory and institutional infrastructure is pivotal to
export promotion in our country ?

TR =W 9 frafa a9 (Promotion of Exports) % &g
FA-W S R wEE gE qeeg #2

14628/6,500/KD/471 2

7.

Which risks are faced by exporters and importers while
transacting international trade ? Which strategies may be
implemented to manage those risks ?

A 3R fralael # i SR S wHa fEA
WfEs &1 GO wE USa 22 3 SfEm B wH el
@ &7

Which methods of payment are used by international trader
in EXIM ? Write in detail on any two methods.

IR =R ¥ JEF $ FH-8 TS ET Y W
& 5 Q@ il = R § fafgw?

14628/6,500/KD/471 3
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14629

PRINCIPLES OF PRODUCTION MANAGEMENT

Time : Three Hours]

Paper : BBA-306

[Maximum Marks : 80

Note : Attempt five questions in all. Question No. 1 is

compulsory.

A . w7 e W ® SR AT e 1 a2

1. Compulsory Question ( 3@ w9 )

Write short notes on the following :

(a)
(b)
(c)
(d)
(e)
®

Meaning of Quality Control.
First in First out (FIFO).
VED Analysis.

Centralised Warehouse.

Specimen of Purchase Requisition.

Organisation of Production Function.

frafafen W fra feofl fofaw
(%) o fEEo 1 A4

(@) 9ga AT ugd frie (FIFO)!
() VED favermo

() FEIFT AT

(¥) g HM9F H T

(F) SARA Fed & HISH|

14629/6,500/KD/1014

NN W W W W

[P.T.O.



What is Product ? Explain various types of products. 16

IOE 27 SR ® fafyw yerR w1 smen s

What do you mean by Production Management ? Explain
various functions of Production Management. 16
IEERA TEY W U F AW R ST weY ®
fafe= =@l =t = #5{)

What is Inventory Control ? Explain the Economic Order
Quantity model of Inventory control. 16

W I w27 = freEwm # onfdw oMy wmn
Oisel &1 IR Hi

What do you mean by Warehousing ? Explain the factors
which are considered for deciding location and layout of
warehouses. 16

TEROT | SUHT F AT B? GSR-TE] F LOA-TUE
Td @ T FE H M W@ WM G UH ) A
Eay

What do you mean by Make or Buy decision ? Under what
situations is it beneficial to make a product ? 16

‘T W wg F' Fofs @ s = s 22 R
foofl & SaR % S I uuR B £

Explain various statistical quality control techniques in
Production Management. 16

IR yey H fafvm wifersr que fasor qee
H A H

14629/6,500/KD/1014 2

8.  Write notes on the following :
(a) 1ISO Certification.

(b) Production Process.
frafafes w fewfml fafag .
(%) JETE3. (ISO) Tl
(@) SRS JiEw

14629/6,500/KD/1014 3

(8+8=16)
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VSD/D-16 20112
BVSD-11
COMPUTER FUNDAMENTALS
Time : Three Hours] [Maximum Marks : 80

Note : Attempt five questions in all. Selecting one question from
each unit in addition to compulsory Question No. 1. All
questions carry equal marks.

(Compulsory Question)

1. (a) What is the difference between Keyboard and Mouse ?

2

(b) What do you mean by Memory Addressing capability of
a CPU. 4

(c) Difference between Primary Memory and Secondary
Memory. 4

(d) Write short note on Floating Point representation of a
Number ? 4

(¢) What is RAM ? 2

UNIT-1

2.  What is Computer ? Explain the block diagram of Digital
Computer, 16

3. Differentiate between the following :

20112/150/KD/503 [P.T.O.



(a) Micro Computer & Mini Computer. 8
(b) Analog Computer & Digital Computer. 4
(c) General Purpose Computer & Special Purpose Computer.
4
UNIT-I1
4.  Write short notes on the following :
(a) Sound Card .
(b) XGA.
(c) OMR.
(d) Joy Stick. (4%x4=16)
5. Write short notes on the following :
(a) Resolution.
(b) Plotter.
(c) OCR.
(d) Line Printer. (4x4=16)
UNIT-III
6. (a) What is Magnetic Tape ? Explain its advantages and
disadvantages.
(b) What is Floppy Disk ? Explain Physical Structure of
Floppy Disk. 16
7. (a) What is ROM ? Explain EPROM & PROM ?
(b) Explain various optical disks such as CD, VCD, CD-R,
CD-RW. 16
20112/150/KD/503 2

UNIT-1V

Write short notes on the following :

(a) Weighted code

(b) Self Complementing Code

(c) Sequential Code

(d) Grey Code. (4x4=16)
Solve the following :

(a) (4246.625),,..(),

(b) (ABC2)4_(),

() (1101011.10101), _ ()46

(d) (153.25)44...Og- (4x4=16)

20112/150/KD/503 3
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PC SOFTWARE
Paper : BVSD-12

Time : Three Hours] [Maximum Marks : 80

Note : Attempt five questions in all, selecting one question from
each unit. Question No. 1 is compulsory.

Compulsory Question
1. Write about the following :
(@) Explain functions of operating system.
(b) Explain the concepts of Bookmark in MS-Word.
(c) What are the components of a Chart in MS-Excel.

(d) What do you mean by Transition ? (4x4=16)

UNIT-1

2. (a) What are the various features of Window ? Also define
an icon and types of icon. 8

(b) What are the purpose of the Window Explorer ? Explain
various views of window explorer. 8

3. Explain in detail the control panel of window operating system.
16

20113/150/KD/504 [P.T.O.



UNIT-11

4. (a) Describe the text find/replace feature of MS-Word. 8
(b) What do you understand by page formatting ? Explain.
8
5. (a) What are tables ? How will you put them in MS-Word ?
6
(b) What is Mail-merge ? Explain its purpose using suitable
example. 10
UNIT-III
6. (a) Explain different data types used in MS-Excel. 4
(b) Explain the following functions with examples in
Excel.
(i) Round ()
(i) Mod ()
(iii)) Count ()
(iv) SQRT () 4
(c) Explain the concept of Absolute reference with example.
8
7. (a) Explain how data can be filtered in MS-Excel. Describe
with the help of suitable example that should include
Auto and Advance filters. 10
(b) Explain with example concept of Goal Seek. 6
20113/150/KD/504 2

(a)
(b)

(a)

(b)

UNIT-1V

Explain various features of powerpoint. 6

What do you mean by Animation ? Explain the procedure
to add Animation to a presentation. 10

How will you insert a chart in your slide ? Explain the
procedure. 8

What are the steps to be followed for adding sound in
the presentation. 8

20113/150/KD/504 3
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OPERATING SYSTEM -1
Paper : BVSD - 13

Time : Three Hours] [Maximum Marks : 80

Note : Attempt five questions in all, selecting one question from
each Unit. Question No. 1 is Compulsory. All questions
carry equal marks.

(Compulsory Question)

1. Answer the following :

(a) Define system call. 3
(b) Differentiate between preemptive and Non-preemptive
scheduling. 3
(c) What are components of operating system ? 2
(d) What are the functions of I/O interface ? 3
(e) What is Threading ? 2
(f) 'What types of task are performed by operating system
in device management ? 3
UNIT-I

2. Write notes on the following :

(a) Real Time Operating System. 6
(b) Distributed Operating System. 6
(c) Multitasking Operating System. 4

20114/150/KD/505 [P.T.O.



3. (a) Whatis system program. Explain it with few example ? 9. (a) Write any two disk scheduling algorithms. 8

8 (b) Explain Disk Structure and Methods for Disk
(b) Defferentiate between single user and multi-user Management. 8
operating system. 8
UNIT-II
4. Explain the following :
(a) Priority Scheduling Algorithm. 8
(b) Shortest Job First Algorithm. 8
5. (a) Describe concept of DMAP. 8
(b) What is Process and it's states ? Also explain Process
Control Block. 8
UNIT-I11

6.  Explain various page-replacement algorithms with examples.

16
7. (a) What is Thrashing and what are it's solutions ? 8
(b) Explain concept of Virtual Memory. 8
UNIT-1V
8.  Write notes on the following :
(a) Swap-Space Management. 8
(b) Kernel YO Subsystem. 8

20114/150/KD/505 2 20114/150/KD/505 3
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VSD/D-16 20115

PROG. FUNDAMENTALS AND C
Paper : BVSD-14

Time : Three Hours] [Maximum Marks : 80

Note : Attempt any five questions. Select one question from each
unit. Question No. 1 is compulsory.

Compulsory Question

1. (a) What is flow chart ? Draw boxes for Input, Decision,
Page, Stop.

(b) Differentiate Compiler and Interpreter.
(c) Differentiate break and Continue Statement in C.

(d) Make Decision Table for ‘OR’ gate. (4%x4=16)
UNIT-1

2. (a) Define Algorithm and characteristics of good Algorithm.

(b) Draw a flow chart to get sum of any 10 Numbers. 16

3. (a) Differentiate High Level Language and Low-Level
language.

(b) Discuss Debugging and Documentation. 16
UNIT-II

4. (a) Discuss variable and constant declaration in C.

(b) Write Bitwise and Logical operators in C. 16

20115/150/KD/506 [P.T.O.

5. Discuss control structure in C and write a program to find
factorial of a number using Loops. 16

UNIT-III

6. Discuss parameter transfer using function. Explain concept
using program to swap two variables. 16

7. (a) Discuss storage classes like AVTO, EXTERN using
example.

(b) Write a program to find Transpose of A [M] [N]. 16

UNIT-1V
8. (a) Explain use of Pointers in Dynamic Memory Allocation.

(b) Write a program to SORT names using Pointer. 16

9. Write Notes on the following :
(a) Structure and Nested structure.

(b) Pointers and Arrays. 16
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RDBMS-I
Paper : BVSD-31

Time : Three Hours] [Maximum Marks : 80

Note :

1. (@

(b)

©
(d

(b)

Attempt five questions in all. Question Number 1 is
compulsory. In addition to compulsory question, student
will have to attempt four more questions selecting one
question from each unit. All questions carry equal marks.

Compulsory Question

What are the key features of RDBMS ? Explain using
Codd's Rules.

Discuss the concept of Theta join and Natural Join in
Relational Algebra.

Elaborate on various types of Constraints in SQL.
Discuss PL/SQL Security and PL/SQL Database Objects.
(4x4=16)
UNIT-I

What are the advantages of database system over
traditional file processing system ? 8

Explain three schema architecture of database system
with the help of a block diagram and discuss the sequence
of events when a user accesses a record by means of
DBMS. 8
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What is E-R Model ? Explain various symbols used in E-R
Model. Draw an E-R model for the Railway Reservation

System by taking various assumptions. 16
UNIT-1I
4. Why normalization is required in RDBMS. Explain 1NF, 2NF,
3NF, BCNEF, 4NF and 5NF with anomalies and examples.
16
5. What is the purpose of Relational Algebra ? Discuss various
operations in Relational Algebra with examples. 16
UNIT-III
6. (a) Explain the concept of Creating, Renaming, Updating
and Destroying Tables/Views in SQL. Give suitable
examples. 8
(b) Discuss the concept of data functions in SQL with
suitable examples. 8
7. Explain the following in SQL with examples :
(a) Creating index
(b) Duplicate and Unique Index
(c) Reverse Key Index
(d) Bit Map Index
(e) Function based Index. 16
20116/50/KD/507 2

UNIT-1V

Define cursor in SQL. Explain various types of cursors. Write
any two programs in PL/SQL using different types of cursor.
16

Why import/export of data is required. Explain various tools
for import and export of data in SQL. 16
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DATA STRUCTURES

Paper : BVSD-32
Time : Three Hours] [Maximum Marks : 80

Note : Question No. 1 is compulsory. Attempt five questions in
all, selecting one question from each unit. All questions
carry equal marks.

Compulsory Question
1.  Answer the following in short :
(a) Explain priority queue.
(b) Write short notes on Recursion.
(c) Differentiate between linear and non-linear data structure.
(d) What is the complexity of Merge sort.
UNIT-I
2. (a) Write short notes on Time-Space tradeoff.

(b) Define data structure and write various data structure
operations.

3. (a) Explainsparse array. How can you store the sparse array
in memory. Explain by using examples.

(b) A is a two dimensional array with 10 rows and 10
columns. Each element of array is stored in two memory
location. Base address is 500. Compute the location of
A[S5, 6] when :

(i) the organisation is row-major

(i1) the organisation is column major.
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UNIT-II

4. What do you mean by stock ? Write the algorithm of PUSH
and POP operations of the stock.

5. Write the insertion algorithm of a doubly linked list.
UNIT-111

6.  Explain insertion and deletion operations of a binary search
tree by using examples.

7. Sort the following elements :

10 15 13 21 25 14

using heap sort.
UNIT-1V

8.  Write the algorithm of the following :
(a) Binary search
(b) Bubble sort.

9. Explain various methods of representation of graph in memory
by using examples.
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SOFTWARE ENGINEERING
Paper : BVSD - 33
Time : Three Hours] " [Maximum Marks : 80

Note : Attempt five questions in all. Select one question from each
unit. Question No. 1 is compulsory.

Compulsory Question
1.  Answer the following in short :

(a) Write Merits of Waterfall Model.

(b) Draw Major boxes used in E-R Diagram.

(c) What is Beta-Testing.

(d) What is BVA (Boundary Value Analysis). 16

UNIT-1

2. Explain spiral and Win-Win Spiral Model with Merits and
Demerits. 16

3. (a) Explain Cost Estimation using Putnam Model.
(b) Discuss Project Scheduling. 16

UNIT-II
4. Explain Design Fundamentals and Design Methodology. 16

S.  Explain DFD using an Inventory control system as example.
16
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6.

7.

9.

UNIT-III
(a) Discuss structured Programing.

(b) Explain functional Testing or White box Testing. 16

Explain the following :
(a) Equivalence class Testing.

(b) Cause Effect Graphing. 16
UNIT-1V

Discuss the following :
(a) Unit Testing.

(b) Vand V.

(c) Integration Testing.

(d) Alpha Testing. . 16

Write notes on the following :
(a) Software Maintenance.

(b) Structural Testing. 16
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OBIJECT ORIENTED PROGRAMMING WITH C++
Paper : BVSD-34

Time : Three Hours] [Maximum Marks : 80

Note : Attempt five questions in all. Select one question from each
unit. Question Number 1 is compulsory. All questions carry
equal marks.

Compulsory Question
1. (a) What are the two different methods used to overload
operators in C++ ? 2

(b) Name the pointer which is implicitly available in C++
for class objects. 2

(c) Define the following terms :
(i) Processor Directives
(ii) Generic Classes
(iii) Encapsulation
(iv) Reusability
(v) Static Data Member

(vi) Scope Resolution Operator. 2*%6=12
UNIT-1

2. (a) How objects oriented programming differs from
procedure oriented programming? Explain. 10
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(b)

(b)

Write a program in C++ which may read and display the
data of student (roll no, marks, name etc.) 6

Explain the concept of class and object in C++. What
are the different visibility modifiers available in class.

10

How data member and member functions may be defined

inside and outside the class? Explain in detail. 6
UNIT-II

4.  Explain the following using suitable examples :

(a) Parameterized Constructor.
(b) Copy Constructor.
() Role of Destructor.
(d) Dynamic Memory Allocation. (4x4=16)
5. (a) How input and output may be formatted in C++ ? Explain
by giving suitable examples. 8
(b) Write a program in C++ to find binomial coefficient. 8
UNIT-I1I
6. (a) Define Operator Overloading. What are the rules for
overloading operators ? 6
(b) Write a program to overload + and - operators over
complex numbers using friend function. 10
7. (a) Differentiate between containership and inheritance. 8
(b) Explain how constructors and destructors are used in
inherited classes. 8
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(a)

(b)

UNIT-1V

Define Template functions and their usage in c++.
Explain the implementation of function template in c++.
13

Why Template function is called Generic functions in
C++? 3

Define exception and explain the use of exception handlers in
c++. What are various types of exceptions in C++ and how
they handled ? 16
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